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1. -555^5 : 1x4-4

Answer the following as directed :

(a) ^8|Si1(^vs WMCul

Which sector dominated the Indian
economy on the eve of Independence?

(i)

Industrial
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( 3 )

(d)
"5^7

Which sector in India employs the
largest share of the labour force?
(i)

Agriculture

(ii)

Manufacturing enterprises

(in)

Services

(w)
Construction

( VQ% ^ wi^ )
( Choose the correct answer }

2.

write short notes on atiy
following :

(a)

Demographic dividend of India

(bj

Human Development Index

(c)

Causes of youth unemployment in India
(Turn Over)

P25/532



( 4 )

(d) ifRiraH JIH'TT

Concept of multidirectional poverty

(e) C^3F5

Comparison between India and
Singapore with regard to employment
status

3. (a)

^Id'HbHI WI

RI5.01 ? 4+4=8

Discuss the key features of the Indian
economy on the eve of Independence.
How did the British colonial rule shape
various sectors of the Indian economy?

WW/ Or

(b)

P25/532

®R^ ^

c5n5ift^«R

hR)<iio«? £i«Tg^ ^ I 4+4=8

Analyze the economic reforms initiated
in 1991 as a part oflndia's globalization
strategy. Evaluate the positive and
negative impacts of the post-
globalization strategies.

( Continued )

( 5 I

4. (a) ^
^iciioi <p^I I «rfI'lTR

^  ̂ ̂ ̂  1R1

^I 4+4=8

Discuss the key demographic features
and trends of the Indian population.
Analyze the size and growth rates of the
population, trends in birth and death
rates.

WW/ Or

R4I*1^ C<i>c*il*P '4TW '®tK4 ? 4+4=8

Evaluate the role of population as a
factor of economic development in India.
How can demographic characteristics
hinder economic growth?

5. (a) wRirJM %T I fRir'^R Rl%^
R? 'f'HH c^3p5 ̂

I 2+4+2=8

Define poverty. What are the various
methods of estimating poverty? Mention

two challenges in poverty estimation.
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( 6 )

ww/ Or

(b)

Tin- • 2+4+2=8What IS income inequaHty? What are the

E^r*® 1 inequality in India?Explain the measures to remove income
inequality.

6. (a)

(b)

P25IB32

^ nRfe I 3+4^-2=8
IJ^at is occupational structure? Explain
the impact of occupational structure in
econo^c development of India. WriS
two changing features of occunatinn !
strucmre in post-independence

W^/Or

T.. 6+2=8Discuss the magnitude and trenH<= f
unemployment in India. Write tw
measures to snlv«. ,

problems in India. "^niploynient

( Continued )

7. (a)

( 7 )

6+2=8

Compare India's development experience
with Singapore. What lessons can India
learn from the development strategies of
Singapore?

Tsisi^/ Or

Compare the process of Mm s
rs^fr-c—ent
strategies of Taiwan?
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